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Note : Attempt any five questions.
All questions carry equal marks.

1. (a) Whatis ‘Generation’ in terms of computer? 10
Explain all the Generations of computer.

2. (a) What are the Full form of the following ? 10
(i) ENIAC (i) EDVAC
(iii) ADSAC (iv) WWW

3. (a) What is the meaning of Network ? Explain 10
different types of Network.

(b) What do you mean by topology ? How many
types of topology are used in Network.
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(b)

(b)
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What is Mail Merge ? Explain the steps that 10
are involved in Mail Merge.

What is Macro ? How to create Macro in
MS-Word ?

A|B|C
1. 140 [ 39 | 32
2. [30}21 |34
3. 19876 | 54

Choose any three cell and perform if
condition, along with are operated in
MS-Excel.

The first electronic computer in the world

was 2x5=10
(i) UNIVAC (i) EDVAC

(iify ENIAC (iv) All of above

ALU is

(i)  Arithmetic Logic Unit
(ii) Array Logic Unit

(iii) Application Logic Unit
(iv) None of above

Artificial Intelligence is associated with
which generation ?

(i) First Generation .
(ii) Second Generation
(iii) Fifth Generation

(iv) Sixth Generation



(d)

(b)
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Which operation is not performed by

computer ?

(i) Inputting

(ii) Processing

(iii) Controlling

(iv) Understanding

Software in computer :

(i) Enhances the capabilities of the
hardware machine.

(i) Increase the speed of central
processing unit.

(iii) Both (i) and (ii).

(iv) None of above.

Which language is directly understood by
the computer system ?

(i) Machine language.

(i) Assembly language.

(i) High level language.

(iv) None of above.

The difference between memory and storage
is that memory is and storage
is

(i) Temporary, permanent

(ii) Permanent, temporary

(iii) Slow, fast

(iv) All of above
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(c) Which statement is valid ?
(iy 1 KB=1024 bytes
(i) 1 MB=2048 bytes
(iiiy 1 MB=1000 kilobytes
(iv) 1 KB=1000 bytes
(d) Different components and the motherboard
of a PC unit are linked together by sets of
parallel electrical conducting lines. What
are these lines called ?
(i) Conductors (ii) Buses
(iii) Connectors (iv) Consecutives
(¢) An HDD may have more than one
operating system within the same partition.
(i) True (i) Logical
(iiiy Active (iv) Extended

7. (a) What type of device is a network

MODEM ? 2x5=10
(i) Both

(ii) Output

(ili) Input

(iv) None of the above
(b) Before a disk can be used to store date, it
must be
(i) Formatted
(ii) Reformatted
(iii) Addressed
(iv) None of the above

MFW-052 4 . ~ P.T.O.



() Athreadisa .
(i) Data (ii) Bytes
(iii) Control (iv) Input device
(d) FAT stands for :
(i) File Accommodation Table
(ii) File Access Tape
(iii) File Activity Table
(iv) File Allocation Table
(e) Operating System is also known as :
(i) database
(i) system software
(iii) hardware

(iv) application software
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